

On n-power-hyponormal operators

Messaoud Guesba

*Department of mathematics, El Oued University,
El Oued 39000, Algeria.*

Mostefa Nadir

*Department of mathematics, Université Mohamed Boudiaf - M'sila,
M'Sila 28000, Algeria.*

Abstract

In this paper we introduce the new class of n-power-hyponormal operators acting on a complex Hilbert space H . We give some basic properties of these operators.

Keywords: Operator, n-power-hyponormal, 3-Normal, 4-Normal, idempotent operator.

Introduction.

Throughout this paper, $B(H)$ denotes to the algebra of all bounded linear operators acting on a complex Hilbert space H . An operator T is said to n-normal operator if $T^n T^* = T^* T^n$; normal if $TT^* = T^*T$ (it is clear that a bounded normal operator is n-normal operator for any n); self adjoint if $T^* = T$; positive if $T^* = T$ and $\langle Tx, x \rangle \geq 0$ for all $x \in H$, and seky-normal if $T^2 = T^{*2}$; projection if $T^2 = T = T^*$. For an operator $T \in H$, if $\|Tx\| = \|x\|$ for all $x \in H$

(or equivalently $T^*T = I$), then T is called an isometry; T is called unitary if $TT^* = T^*T = I$. An operator T on H is called hyponormal if $TT^* \leq T^*T$.

n-power-hyponormal operators

Definition

$T \in B(H)$ is called an n-power-hyponormal operators if $T^n T^* \leq T^* T^n$.

It is easy to observe that, this new class includes all normal, all n-normal and all hyponormal operators.

Proposition 1

If $S, T \in B(H)$ are unitarily equivalent and if T is n-power-hyponormal operators then so is S .

Proof

Let T be an n-power-hyponormal operator and S be unitary equivalent of T . Then there exists unitary operator U such that $S = UTU^*$ so $S^n = UT^n U^*$.

We have

$$\begin{aligned} S^n S^* &= UT^n U^* (UTU^*)^* \\ &= UT^n U^* UTU^* \\ &= UT^n T^* U^* \\ &\leq UT^* T^n U^* \\ &= S^* S^n. \end{aligned}$$

Hence, $S^n S^* \leq S^* S^n$ that is S is n-power-hyponormal operator.

Proposition 2

Let $T \in B(H)$ be an n-power-hyponormal operator. Then T^* is co-n-power-hyponormal.

Proof

Since T is n-power-hyponormal operator. We have

$$\begin{aligned} T^n T^* \leq T^* T^n &\Rightarrow (T^n T^*)^* \leq (T^* T^n)^* \\ &\Rightarrow (T^*)^* (T^n)^* \leq (T^n)^* (T^*)^* \\ &\Rightarrow T(T^*)^n \leq (T^*)^n T \\ &\Rightarrow (T^*)^n T \geq T(T^*)^n. \end{aligned}$$

Hence, T^* is co-n-power-hyponormal.

Corollary

If T and T^* are two n-power-hyponormal operators, then T is n-normal operator.

Theorem 1

If S, T are commuting n-power-hyponormal operators and $ST^* = T^*S$, then ST is an n-power-hyponormal operator.

Proof

Since $ST = TS$, so $S^n T^n = (ST)^n$ and $ST^* = T^*S$, so $S^n T^* = T^* S^n$.

Now,

$$\begin{aligned} ST^* = T^*S &\Rightarrow TS^* = S^*T \\ &\Rightarrow T^n S^* = S^* T^n. \end{aligned}$$

We have

$$\begin{aligned} (ST)^n (ST)^* &= S^n T^n T^* S^* \\ &\leq S^n T^* T^n S^* \\ &= T^* S^n S^* T^n \\ &\leq T^* S^* S^n T^n. \end{aligned}$$

Hence

$$(ST)^n (ST)^* \leq (ST)^* (ST)^n.$$

Then ST is an n -power-hyponormal operator.

Proposition 3

Let S, T are commuting n -power-hyponormal operators, such that $TS^* = S^*T$ and $(S+T)^*$ is commutes with $\sum_{k=1}^{n-1} C_n^k S^{n-k} T^k$. Then $(S+T)$ is an n -power-hyponormal operator

Proof

Since

$$\begin{aligned} (S+T)^n (S+T)^* &= \left(\sum_{k=0}^n C_n^k S^{n-k} T^k \right) (S^* + T^*) \\ &= S^n S^* + \sum_{k=1}^{n-1} C_n^k S^{n-k} T^k (S+T)^* \\ &\quad + T^n S^* + S^n T^* + T^n T^*. \end{aligned}$$

and since

$$TS^* = S^*T \Rightarrow T^n S^* = S^* T^n.$$

now

$$\begin{aligned} TS^* = S^*T &\Rightarrow ST^* = T^*S \\ &\Rightarrow S^n T^* = T^* S^n. \end{aligned}$$

Since $(S+T)^*$ is commutes with $\sum_{k=1}^{n-1} C_n^k S^{n-k} T^k$. Hence

$$\begin{aligned}
& (S+T)^n(S+T)^* \\
&= S^n S^* + (S+T)^* \sum_{k=1}^{n-1} C_n^k S^{n-k} T^k + S^* T^n + T^* S^n + T^n T^* \\
&\leq S^* S^n + (S+T)^* \sum_{k=1}^{n-1} C_n^k S^{n-k} T^k + S^* T^n + T^* T^n \\
&= (S+T)^* \left(\sum_{k=0}^n C_n^k S^{n-k} T^k \right) \\
&= (S+T)^* (S+T)^n.
\end{aligned}$$

This completes the proof.

Proposition 4

If $S, T \in B(H)$ are 2 -power-hyponormal operators, such that $TS^* = S^*T$ and $ST + TS = 0$, then $T+S$ and ST are 2 -power-hyponormal.

Proof

Since $ST + TS = 0$, hence $S^2 T^2 = T^2 S^2$, so $(S+T)^2 = S^2 + T^2$.

$$\begin{aligned}
(S+T)^2(S+T)^* &= (S^2 + T^2)(S^* + T^*) \\
&= S^2 S^* + S^2 T^* + T^2 S^* + T^2 T^* \\
&= S^2 S^* + T^* S^2 + S^* T^2 + T^2 T^* \\
&\quad (\text{for } TS^* = S^*T) \\
&\leq S^* S^2 + T^* S^2 + S^* T^2 + T^* T^2 \\
&= (S+T)^*(S+T)^2.
\end{aligned}$$

Now,

$$\begin{aligned}
(ST)^2(ST)^* &= S^2 T^2 T^* S^* \\
&\leq S^2 T^* T^2 S^* \\
&= T^* S^2 S^* T^2 \\
&\leq T^* S^* S^2 T^2 \\
&= (ST)^*(ST)^2.
\end{aligned}$$

Theorem 2

Let T_1, T_2, \dots, T_m be n-power-hyponormal operators in $B(H)$. Then $(T_1 \oplus T_2 \oplus \dots \oplus T_m)$ and $(T_1 \otimes T_2 \otimes \dots \otimes T_m)$ are n-power-hyponormal operators.

Proof

Since

$$\begin{aligned} & (T_1 \oplus T_2 \oplus \dots \oplus T_m)^n (T_1 \oplus T_2 \oplus \dots \oplus T_m)^* \\ &= (T_1^n \oplus T_2^n \oplus \dots \oplus T_m^n) (T_1^* \oplus T_2^* \oplus \dots \oplus T_m^*) \\ &= T_1^n T_1^* \oplus \dots \oplus T_m^n T_m^* \\ &\leq T_1^* T_1^n \oplus \dots \oplus T_m^* T_m^n \\ &= (T_1^* \oplus T_2^* \oplus \dots \oplus T_m^*) (T_1^n \oplus T_2^n \oplus \dots \oplus T_m^n) \\ &= (T_1 \oplus T_2 \oplus \dots \oplus T_m)^* (T_1 \oplus T_2 \oplus \dots \oplus T_m)^n. \end{aligned}$$

Then $(T_1 \oplus T_2 \oplus \dots \oplus T_m)$ is an n -power-hyponormal operator.

Now, for $x_1, \dots, x_m \in H$

$$\begin{aligned} & (T_1 \otimes T_2 \otimes \dots \otimes T_m)^n (T_1 \otimes T_2 \otimes \dots \otimes T_m)^* \\ & (x_1 \otimes \dots \otimes x_m) \\ &= (T_1^n \otimes T_2^n \otimes \dots \otimes T_m^n) (T_1^* \otimes T_2^* \otimes \dots \otimes T_m^*) \\ & (x_1 \otimes \dots \otimes x_m) \\ &= T_1^n T_1^* x_1 \otimes \dots \otimes T_m^n T_m^* x_m \\ &\leq T_1^* T_1^n x_1 \otimes \dots \otimes T_m^* T_m^n x_m \\ &= (T_1^* \otimes T_2^* \otimes \dots \otimes T_m^*) (T_1^n \otimes T_2^n \otimes \dots \otimes T_m^n) \\ & (x_1 \otimes \dots \otimes x_m) \\ &= (T_1 \otimes T_2 \otimes \dots \otimes T_m)^* (T_1 \otimes T_2 \otimes \dots \otimes T_m)^n \\ & (x_1 \otimes \dots \otimes x_m) \end{aligned}$$

so

$$\begin{aligned} & (T_1 \otimes T_2 \otimes \dots \otimes T_m)^n (T_1 \otimes T_2 \otimes \dots \otimes T_m)^* \\ &\leq (T_1 \otimes T_2 \otimes \dots \otimes T_m)^* (T_1 \otimes T_2 \otimes \dots \otimes T_m)^n. \end{aligned}$$

Thus $(T_1 \otimes T_2 \otimes \dots \otimes T_m)$ is an n -power-hyponormal operator.

Proposition 5

If T is 3 -power-hyponormal and $T^2 = -T^{*2}$. Then T is 3 -normal operator.

Proof

Since

$$T^3 T^* = T T^2 T^* = -T T^{*3}$$

and

$$T^* T^3 = T^* T^2 T = -T^{*3} T.$$

T is 3 -power-hyponormal, then

$$\begin{aligned}
T^3T^* &\leq T^*T^3 \Rightarrow -TT^{*3} \leq -T^{*3}T \\
&\Rightarrow TT^{*3} \geq T^{*3}T \\
&\Rightarrow (TT^{*3})^* \geq (T^{*3}T)^* \\
&\Rightarrow T^3T^* \geq T^*T^3.
\end{aligned}$$

Hence $T^3T^* = T^*T^3$.

Proposition 6

If T is 4 -power-hyponormal and T is skew-normal operator, then T is 4 -normal operator.

Proof

T is skew-normal operator then $T^2 = T^{*2}$. Since

$$T^4T^* = T^2T^2T^* = T^{*5}$$

and

$$T^*T^4 = T^*T^2T^2 = T^{*5}.$$

Hence $T^4T^* = T^*T^4$.

Proposition 7

If T is 2 -power-hyponormal operator and T is idempotent. Then T is hyponormal operator.

Proof

Since T is 2 -power-hyponormal operator, then

$$T^2T^* \leq T^*T^2$$

since T is idempotent $T^2 = T$, which implies

$$TT^* \leq T^*T.$$

Thus T is hyponormal operator.

Proposition 8

If T is 3 -power-hyponormal operator and T is idempotent. Then 2 -power-hyponormal operator.

Proof

Since T is 3 -power-hyponormal operator, then

$$T^3T^* \leq T^*T^3$$

since T is idempotent which implies

$$T^2T^* \leq T^*T^2.$$

Thus 2 -power-hyponormal operator.

Acknowledgments

The authors are grateful to the referee for his comments and suggestions.

References

- [1] A. Aluthge, On p -hyponormal Operators for $0 < p < 1$, Integral Equations Operators Theory, 13(1990), 307-315.
- [2] S. A. Alzuraiqi, A. B. Patel, On n -normal operators, General Mathematics Notes, Vol 1, No 2 (2010), 61-73.
- [3] T. Ando, On Hyponormal operators, Proc. Amer. Math. Soc., 14(1963), 290-291.
- [4] J. Conway, A course in Functional analysis, Second Edition, Spring-Verlag, New york, 1990.
- [5] A. A. S. Jibril. On n -power normal operators. The journal. for Sc and Emg, vol 33. number 2 (2008) 247-251.
- [6] T. Furuta, A remark on a class of operators, proc. Japon. Acad, (43)(1967), 607-609.
- [7] W. Rudin, Functional Analysis, (1973) McGraw-Hill.

